Summing the K-N-R
Series

You are given a sequence whose nt term is
T, =n¥ x R"
You have to evaluate the series
Spn=Ti+T+Ts+---+Th
Find S, mod (10° + 7).
Input Format

The first line of input contains T", the number of test cases.
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Each test case consists of three lines, each containing K, n and R respectively.

Output Format
For each test case, print the required answer in a line.

Constraints

1<T<10
1< K <108
1<n<10%

2 < R <10

R mod (10° +7) # 1

Sample Input

W s w NN oD

Sample Output

1146
5988

Explanation

Case 1: 1146 =12 x 21 + 22 x 22 + 32 x 23 + 42 x 24 + 52 x 25
Case 2: 5988 = 13 x 31 + 23 x 32 + 3% x 33 + 43 x 3¢
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